OSCILLATIONS AND WAVES

Responses to Questions

The acceleration of a simple harmonic oscillator is momentarily zero as the mass passes through the
equilibrium point. At this point, there is no force on the mass and therefore no acceleration.

2. Since the real spring has mass, the mass that is moving is greater than the mass at the end of the spring.

Since f = % i, a larger mass means a smaller frequency. Thus the true frequency will be smaller
T\ m

than the massless spring approximation. And since the true frequency is smaller, the true period will be
larger than the massless spring approximation. About one-third of the mass of the spring contributes to
the total mass value.

3. The maximum speed is given by v,,,, = AvVk/m. Various combinations of changing 4, k, and/or m can

ax
result in a doubling of the maximum speed. For example, if £ and m are kept constant, then doubling
the amplitude will double the maximum speed. Or if 4 and k are kept constant, then reducing the mass
to one-fourth of its original value will double the maximum speed. Note that changing either k or m

will also change the frequency of the oscillator, since f = % \/E So doubling the frequency (no
T\ m

matter how it is done) will also double the maximum speed.
4. The period of a pendulum clock is inversely proportional to the square root of g, by Eq. 11-11a,

T =2n.¢/g. When taken to high altitude, g will decrease (by a small amount), which means that the
period will increase. If the period is too long, then the clock is running slow, so will lose time.

[=]

The tire swing is a good approximation of a simple pendulum. Pull the tire back a short distance and
release it so that it oscillates as a pendulum in simple harmonic motion with a small amplitude.
Measure the period of the oscillations and calculate the length of the pendulum from the expression
T’ , . .
T=2rm\llg — (= g_z The length ¢ is the distance from the center of the tire to the branch. The
4

height of the branch is ¢ plus the height of the center of the tire above the ground.

© Copyright 2014 Pearson Education, Inc. All rights reserved. This material is protected under all copyright laws as they currently exist.
No portion of this material may be reproduced, in any form or by any means, without permission in writing from the publisher.

11-1



11-2

Chapter 11

10.

11.

12.

—
W

14.

15.

The displacement and velocity vectors are in the same direction while the oscillator is moving away
from its equilibrium position. The displacement and acceleration vectors are never in the same
direction.

The two masses reach the equilibrium point simultaneously. The period of oscillation is independent of
amplitude and will be the same for both systems.

When walking at a normal pace, the period of a walking step is about 1 second. The faster you walk,
the shorter the period. The shorter your legs, the shorter the period. If you approximate your leg as a

pendulum of length 1 m, then the period would be T =27,///g =2 seconds.

When you rise to a standing position, you raise your center of mass and effectively shorten the length
of the swing. The period of the swing will decrease, and the frequency will increase.

To make the water slosh, you must shake the water (and the pan) at the natural frequency for water
waves in the pan. The water then is in resonance, or in a standing wave pattern, and the amplitude of
oscillation gets large. That natural frequency is determined in part by the size of the pan—smaller pans
will slosh at higher frequencies, corresponding to shorter wavelengths for the standing waves. The
period of the shaking must be the same as the time it takes a water wave to make a “round trip” in the
pan.

The frequency of a simple periodic wave is equal to the frequency of its source. The wave is created by
the source moving the wave medium that is in contact with the source. If you have one end of a taut
string in your hand, and you move your hand with a frequency of 2 Hz, then the end of the string in
your hand will be moving at 2 Hz, because it is in contact with your hand. Then those parts of the
medium that you are moving exert forces on adjacent parts of the medium and cause them to oscillate.
Since those two portions of the medium stay in contact with each other, they also must be moving with
the same frequency. That can be repeated all along the medium, so the entire wave throughout the
medium has the same frequency as the source.

The speed of the transverse wave is the speed at which the wave disturbance moves along the cord. For
a uniform cord, that speed is constant and depends on the tension in the cord and the mass density of
the cord. The speed of a tiny piece of the cord is how fast the piece of cord moves perpendicularly to
the cord as the disturbance passes by. That speed is not constant—if a sinusoidal wave is traveling on
the cord, the speed of each piece of the cord will be given by the speed relationship of a simple
harmonic oscillator (Eq. 11-9), which depends on the amplitude of the wave, the frequency of the
wave, and the specific time of observation.

(a) Striking the rod vertically from above will displace particles in a direction perpendicular to the
rod and will set up primarily transverse waves.

(b)  Striking the rod horizontally parallel to its length will give the particles an initial displacement
parallel to the rod and will set up primarily longitudinal waves.

From Eq. 11-14b, the speed of waves in a gas is given by v =./B/p. A decrease in the density due to

a temperature increase therefore leads to a higher speed of sound. We expect the speed of sound to
increase as temperature increases.

For a rope with a fixed end, the reflected pulse is inverted relative to the incoming pulse. For a rope
with a free end, the reflected pulse is not inverted. See Fig. 11-33 for an illustration. For the fixed end,
the rope puts a force on the connecting point as the pulse reaches the connecting point. The connecting
point puts an equal and opposite force on the rope. This force is what generates the inverted reflected
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pulse. The point of connection is a node—a point of no motion. For a free end, the incoming pulse
“whips” the end of the rope in a direction transverse to the wave motion, stretching it upward. As that
whipped end is pulled back toward the equilibrium position, this whipping motion generates a wave
much in the same way that the pulse was originally created and thus creates a wave that is not
reflected.

Although both longitudinal and transverse waves can travel through solids, only longitudinal waves
can travel through liquids. Since longitudinal waves, but no transverse waves, are detected on the Earth
diametrically opposite the location of an earthquake, there must be some liquid as part of the Earth’s
interior.

The speed of a longitudinal wave is given in general by v = +/elastic force factor/inertia factor. Even
though the density of solids is 1000 to 10,000 times greater than that of air, the elastic force factor

(bulk modulus) of most solids is at least 10° times as great as the bulk modulus of air. This difference
overcomes the larger density of most solids and accounts for the speed of sound in most solids being
greater than in air.

(a) Similar to the discussion in Section 11-9 for spherical waves, as a circular wave expands, the
circumference of the wave increases. For the energy in the wave to be conserved, as the
circumference increases, the intensity has to decrease. The intensity of the wave is proportional
to the square of the amplitude.

(b) The water waves will decrease in amplitude due to dissipation of energy from viscosity in the
water (dissipative or frictional energy loss).

Assuming the two waves are in the same medium, then they will both have the same speed. Since

v = f'A, the wave with the smaller wavelength will have twice the frequency of the other wave. From
Eq. 11-18, the intensity of a wave is proportional to the square of the frequency of the wave. Thus, the
wave with the shorter wavelength will transmit four times as much energy as the other wave.

The frequency must stay the same because the media is continuous—the end of one section of cord is
physically tied to the other section of cord. If the end of the first section of cord is vibrating up and
down with a given frequency, then since it is attached to the other section of cord, the other section
must vibrate at the same frequency. If the two pieces of cord did not move at the same frequency, then
they would not stay connected, and the waves would not pass from one section to another.

Assuming that there are no dissipative processes, then yes, the energy is conserved. The particles in the
medium, which are set into motion by the wave, have both kinetic and potential energy. At the instant
in which two waves interfere destructively, the displacement of the medium may be zero, but the
particles of the medium will have velocity and therefore kinetic energy.

Yes. If you touch the string at any node you will not disturb the motion. There will be nodes at each
end as well as at the points one-third and two-thirds of the distance along the length of the string.

From Eq. 11-13, the speed of waves on the string is v = \/F;/u. Equation 11-9b can be used to find

the fundamental frequency of oscillation for a string with both ends fixed, f; = 2—1; Combining these

two relationships gives f| = ZLK L By wrapping the string with wire, the mass per unit length (1)
U

of the string can be greatly increased without changing the length or the tension of the string. This
gives the string a low fundamental frequency.

© Copyright 2014 Pearson Education, Inc. All rights reserved. This material is protected under all copyright laws as they currently exist.
No portion of this material may be reproduced, in any form or by any means, without permission in writing from the publisher.



11-4

Chapter 11

24,

25.

26.

27.

The energy of a wave is not localized at one point, because the wave is not localized at one point, so
referring to the energy “at a node” being zero is not a meaningful statement. Due to the interference of
the waves, the total energy of the medium particles at the nodes is zero, but the energy of the medium
is not zero at points of the medium that are not nodes. In fact, the antinodes have more energy than
they would have if only one of the two waves were present.

Yes. A standing wave is an example of a resonance phenomenon, caused by constructive interference
between a traveling wave and its reflection. The wave energy is distributed around the antinodes, which
exhibit large-amplitude oscillations, even when the generating oscillations from the hand are small.

This description of waves works well initially for both descriptions, but the waves continue after the
initial motion. When the center is struck, a wave does move from the center to the rim, but then it
reflects from the rim back to the center. Likewise, when the rim is struck, a wave does move from the
rim to the center, but the wave does not “stop” at the center. Once reaching the center, it then spreads
out again to the rim. The amplitude of the waves also changes as the waves travel. As the radius
increases, the amplitude decreases, and as the radius decreases, the amplitude increases.

AM radio waves have a much longer wavelength than FM radio waves. How much waves bend, or
diffract, around obstacles depends on the wavelength of the wave compared with the size of the
obstacle. A hill is much larger than the wavelength of FM waves, so there will be a “shadow” region
behind the hill. However, the hill is not large compared with the wavelength of AM signals, so the AM
radio waves will bend around the hill.

Responses to MisConceptual Questions

1.

(e) At x=1=4, the velocity is zero, but at these points the acceleration is a maximum. At x =0, the

acceleration is zero, but the velocity is a maximum. For all other points, both the velocity and
acceleration are nonzero. Thus there are no points where the acceleration and velocity are
simultaneously zero.

(a, ¢, d) At the turning points in the oscillation (x =+ 4), the velocity is zero and the acceleration is a
maximum, so (@) is true. At the center of the oscillation (x =0), the acceleration is zero and the

velocity is a maximum, so (c) is true. Since the velocity is only zero at the turning points where
the acceleration is a maximum, there is no point where both the velocity and acceleration are
zero, so (b) is not true. At all other points besides x =+ 4 and x =0, both the acceleration and

velocity are nonzero values, so (d) is also true.

(¢) Students may believe that the period is proportional to the mass and therefore think that doubling
the mass will double the period. However, the period is proportional to the square root of the
mass, as seen in Eq. 11-6a. Therefore, the mass must be quadrupled (to 4M) for the period to
double.

(b) A common misconception is that the amplitude of oscillation affects the frequency. Eq. 11-6b
shows that the frequency can be increased by increasing k or decreasing m. The frequency does
not depend upon the amplitude.

(a) The small angle approximation is valid only in units of radians because the angle in radians is
equal to the ratio of the arc length to the radius. At small angles the arc length can be
approximated as a straight line, being the opposite leg of a right triangle with hypotenuse equal
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to the radius of the circle. This ratio is equal to the sine of the angle, so for small angles the angle
in radians is equal to the sine of the angle.

A common misconception is that the starting angle, or amplitude of oscillation, affects the period
of a pendulum. Eq. 11-11a shows that the period of a small-amplitude pendulum is determined
by the length of the string and the acceleration of gravity, not the amplitude. Both oscillations
will then have the same period.

Students may erroneously believe that the mass of the child will affect the period of oscillation.
However, Eq. 11-11a shows that the period is determined by the length of the swing cords and
the acceleration of gravity. It does not depend upon the weight of the child. Since the swings are
identical, they should oscillate with the same period.

To speed up the pendulum, the period of the oscillation must be decreased. Equation 11-11a
shows that the period is proportional to the square root of the length, so shortening the string will
decrease the period. The period does not depend upon the mass of the bob, so changing the mass
will not affect the period.

Students frequently have trouble distinguishing between the motion of a point on a cord and the
motion of a wave on the cord. As a wave travels down the cord, a point on the cord will move
vertically between the lowest point of the wave and the highest point on the wave. The wave and
the point have the same amplitude. The point on the cord completes one up and down oscillation
as each wavelength passes that point. Therefore, the motion of the point on the cord has the same
frequency as the wave. The speed of the wave on the string is determined by the wavelength and
frequency. It is constant in time. The point on the cord moves perpendicular to the wave with a
speed that varies with time. The maximum speed of the point is proportional to the wave
amplitude and the wave frequency. Changing the amplitude will change the maximum speed of
the point on the cord, but it does not change the wave speed. The wave speed and string speed
therefore are not equal.

A common misconception is that the waves are objects that can collide. Waves obey the
superposition principle such that at any point on the rope the total displacement is the sum of the
displacements from each wave. The waves pass through each other unaffected.

Equation 11-13 shows that the wave speed on a cord is related to the tension in the cord and the
mass per unit length of the cord. The wave speed does not depend upon the amplitude,
frequency, or wavelength. Stretching the cord increases the tension and decreases the mass per
unit length, both of which increase the speed of the wave on the cord.

The point on the string does not move horizontally, so answers (a) and (b) cannot be correct. The
string has zero velocity only at the turning points (top and bottom), so (e¢) cannot be correct.
Examining the graph shows that as the wave moves to the right the crest is approaching point B,
so the string at B is traveling upward at this instant.

Students frequently confuse the medium (an object) with the wave motion and answer that the
waves will collide and bounce off of each other. The waves obey the superposition principle
such that at any point in the lake the amplitude of the wave is the sum of the individual
amplitudes of each wave. This produces the various patterns when they overlap. The waves,
however, will pass through each other and continue in their same pattern after they pass.

The speed of the wave along the Slinky depends upon the mass of the Slinky and the tension
caused by stretching it. Since this has not changed, the wave speed remains constant. The wave
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speed can also be written as the product of the wavelength and frequency. Therefore, as the
frequency is increased, the wavelength must decrease.

15. (a) A common misconception is that a wave transports matter as well as energy. However, as shown
by a transverse wave on a horizontal string, the wave transports the disturbance down the string,
but each part of the string stays at its initial horizontal position.

Solutions to Problems

1. The particle would travel four times the amplitude: from x=4 to x=0 to x=—4 to x=0 to
x=A. So the total distance =44 =4(0.21 m) =|0.84 m|.

2. The spring constant is found from the ratio of applied force to displacement.
i Fext _mg _ (66kg)(980 m/s?)
XX 50x107 m

=1.294x10° N/m

The frequency of oscillation is found from the total mass and the spring constant.

1 [k 1 [1294x10° N/m
= Ao 2R Y 1362 Hz~[1.4 Hz
f 1766 ke [1.4 1z

3. The spring constant is the ratio of external applied force to displacement.

F 2I0N-75N 135N
k=" = = =562.5 N/m = -560 N/m
x 085m-06lm 024m -

4. The period is 2.0 seconds, and the mass is 32 kg. The spring constant is calculated from Eq. 11-6a.

T=2f[\/% N T2=47r2% S k4?42 32K 315 e N =320 Nm

T2 (2.05)?

5. (a) The spring constant is found from the ratio of applied force to displacement.

F, . : 2
j= Lo _mg _ 2AKDOBOmMST) _ for\ - [650 N/m

X X 0.036 m

(b) The amplitude is the distance pulled down from equilibrium, so 4 = .
The frequency of oscillation is found from the oscillating mass and the spring constant.

653 N/m
S LR L OSSN, sty ~ (26 ]
Ly ey 24kg ? z

. . . . 1 / k
The relationship between frequency, mass, and spring constant is Eq. 11-6b, f = 2\
T \m

(a) =—\/7 — k=47 2m=47%(4.0 H2)?(2.2x10™* kg) = 0.1390 N/m = [0.14 N/m

b) f= 013901;”“‘ =2.828 Hz = [2.8 Hz|
22\m 27\ 4.4x10” kg
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7. The spring constant is the same regardless of what mass is attached to the spring.

1
fzgg - ﬁszzzconstant - m1f12=m2f12 -

(0.78 kg)(0.60 Hz)?
(m kg)(0.83 Hz)? = (m kg +0.78 kg)(0.60 Hz)> — m= = -0.85 kg
(0.83 Hz)? — (0.60 Hz)?

8. We assume that downward is the positive direction of motion. For this motion, we have k& =305 N/m,
A=0.280 m, m=0.235 kg, and w=~k/m = \/(305 N/m)/0.235 kg =36.026 rad/s.

(a) Since the mass has a zero displacement and a positive velocity at # =0, the equation is a sine

function.

[»(#) = (0.280 m) sin [(36.0 rad/s)¢]|

() The period of oscillation is given by T = 2—” = 2—”
@ 36.026 rad/s

its maximum extension at times given by the following:

=0.17441s. The spring will have

‘ =§+nT =[436x102 s+n(0.174 5),n =0,1,2,-

max

The spring will have its minimum extension at times given by the following:

=%+nT=|l.3l><lO_1 s+n(0.174 s),n=0,1, 2’.‘.|

t

min

9. (a) ForA,the amplitude is A4, = . For B, the amplitude is Ag = .
(b) For A, the frequency is 1 cycle every 4.0 seconds, so f, = 0.25 Hz|. For B, the frequency is 1

cycle every 2.0 seconds, so fz =[0.50 Hz|.
(¢) For A, the periodis T, = . For B, the period is Ty = .

10. (a) We find the effective spring constant from the mass and the frequency of oscillation, using

Eq. 11-6b.
1 |k
/= 2 \'m

k=4*mf* = 47°(0.052 kg)(3.0 Hz)> =18.476 N/m =

(b) Since the objects are the same size and shape, we anticipate that the spring constant is the same.

f:i k_1 wzl,z%HZ:
2r\m 2x\ 0.28 kg

11. If the energy of the SHO is half potential and half kinetic, then the potential energy is half the total
energy. The total energy is the potential energy when the displacement has the value of the amplitude.

_1
Epot 2

Eo — %kxzz%(%kAz) - x=i%AziO.707A
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When the object is at rest, the magnitude of the spring force is equal to the force of gravity. This
determines the spring constant. The period can then be found.

vemcal -mg — k= mg/xO

[ , / / 0.14 m
T=2rx =2r =2r = -75 S
(mg/xo 9.80 m/

The spring constant can be found from the stretch distance corresponding to the weight suspended on
the spring.

2
i =h:@: (1.65 kg)(9.80 m/s”) — 75209 N/m
x X 0.215m

After being stretched farther and released, the mass will oscillate. It takes one-quarter of a period for
the mass to move from the maximum displacement to the equilibrium position, independent of the
amplitude.

Lr=ogmlk == /— =10.233s
4 4 2\ 75.209 N/m

The general form of the motion is x = 4 cos @t = 0.650 cos 8.40¢.

(@) The amplitude is 4 = x,,,, =|0.650 m|.

e frequency is found by w=27f=840s" — . z=|l. z
(b) The fi is found b 27f=840s"" f= 840 5™ =1337Hz=[1.34H
2z

(¢) The total energy is given by the kinetic energy at the maximum speed.
Eqggal = 3mvpy, =Im(w4)” =1(1.15 kg)[(8.40 s71)(0.650 m))* =17.142 ] =[17.1]
(d) The potential energy is given by

Epotential = 1k =Lma’x® =1(1.15 kg)(8.40 s7)*(0.360 m)* =5.258 1 =
The kinetic energy is given by

Ekinetic = Etotal _Epotential = 17142 J _5258 J = 1 1884 J = 1 19 J
(a) Atequilibrium, the velocity is its maximum, as given in Eq. 11-7.

L,

k
o = \/%A =wA =27 f4=27(2.2 Hz)(0.15 m) = 2.073 m/s =

() From Eq. 11-5b, we find the speed at any position.

2 2
- vmax‘/l—% — (2.073 mJs) /1—% —1.545 m/s ~
. m

(¢c) E %m max =5 (0.25 kg)(2.073 m/s)? =0.5372 7 =[0.54J

otal —

(d) Since the object has a maximum displacement at ¢ =0, the position will be described by the
cosine function.

x=(0.15m)cos (2m(2.2 Hz)t) — |x=(0.15 m) cos (4.477)]
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16. The spring constant is found from the ratio of applied force to displacement.
x 0.175m
Assuming that there are no dissipative forces acting on the ball, the elastic potential energy in the
loaded position will become kinetic energy of the ball.
k 520 N/
E=E — thly=imil, = U =xmax\/: =(0.175 m), |2~ =[9.98 m/s
m 0.160 kg
17. To compare the total energies, we can compare the maximum potential energies. Since the frequencies
and the masses are the same, the spring constants are the same.
2 2
Engh kg Anign Anigh
energy _ eznergy _ eznergy -3 energy _ \/g
ElOW % kAlow Alow low
energy energy energy energy
18. (a) The spring constant can be found from the mass and the frequency of oscillation.
k
w= \P =27f — k=4nf*m=47(2.5 Hz)*(0.24 kg) = 59.22 N/m =[59 N/m
m
() The energy can be found from the maximum potential energy.
E=1k4” =1(59.22 N/m)(0.045 m)* =5.996x107 J = [0.060 J
19. (a) The work done to compress a spring is stored as potential energy.
1.2 2w 2(3.6)) N
W=3k — k=—=——"—-=426.0 N/m=[430 N/m
X (0.13m)
(b) The distance that the spring was compressed becomes the amplitude of its motion. The
. . . . . k
maximum acceleration occurs at the maximum displacement and is given by a,,,, =— 4. Solve
m
this for the mass.
k k 426 N/m
Aoy =— A — m= A= (0.13m)=4.615kg =|4.6 kg
e m Amax ( 12 m/Sz j
(a) The total energy of an object in SHM is constant. When the position is at the amplitude, the
speed is zero. Use that relationship to find the amplitude.
E =%mv2 +%kx2 =%kA2 -
2.7k _ Z
A= \/ﬂuz +x2 = \/—g(o.ss m/s)? +(0.020 m)® =5.509x102 m =|5.5x1072 m
k 310 N/m
(b) Again use conservation of energy. The energy is all kinetic energy when the object has its
maximum velocity.
Eior =%m1)2 +%l€x2 =%ch12 =%mv§lax -
k _ 10N
Viax = A\/: =(5.509x107% m) 3207—1(/m =0.5903 m/s =|0.59 m/s
m 7 kg
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(a) Find the period and frequency from the mass and the spring constant.

T =2x\mlk = 271'\/0.885 kg/(184 N/m) =0.4358 s ={0.436 s

f=VT=1/(0.4358s) =

() The initial speed is the maximum speed, and that can be used to find the amplitude.
VUpax = ANkIm  —
A=v  Nmlk =(2.26 m/s)\/0.885 kg/(184 N/m) =0.1567 m =|0.157 m

(¢) The maximum acceleration can be found from the mass, spring constant, and amplitude.

o = Ak/m = (0.1567 m)(184 N/m)/(0.885 kg) =|32.6 m/s’

(d) The maximum energy is the kinetic energy that the object has when at the equilibrium position.

_1 2 _ ~
=5(0.885kg)(2.26 m/s)” =2.2601J =[2.26

1 2
E= Emvmax

(e) Use conservation of mechanical energy for the oscillator, noting that we found total energy in

part (d) and that another expression for the total energy is E,,; = %kAz.
2 2 2 2 2
E=Lhk” +1mv” =2kA” — 1k(0.40 A)" +KE = Ey, =1kd” —
KE = Lkd® -1 5(0.404) = Lka® (1-0.40%) = E ;1 (0.84) = (2.2601 1)(0.84) =[1.90 J

We assume that the collision of the bullet and block is so quick that there is no significant motion of
the large mass or spring during the collision. Linear momentum is conserved in this collision. The
speed that the combination has right after the collision is the maximum speed of the oscillating system.
Then the kinetic energy that the combination has right after the collision is stored in the spring when it
is fully compressed, at the amplitude of its motion.

m

m+M

Pocfore = Pafier —> MUy =(mM+M)Vy = Uy = (%)

2
5 M'Uo) _EkA -

L+ Myl =1ka®> > Lm+m)
m+

)

v =2 i any = CA0XI0 M) [ 60 7 N/m)(7.870%107 ke +4.148 ke)

A e = 0460 3 . .
m (7.870x107 kg)

=|312.6 m/s

43.0s
7 cycles

The period of the jumper’s motion is 7 = = 6.143 5. The spring constant can then be found

from the period and the jumper’s mass.

m 4m’m  47%(65.0 kg)
T=2r|— — k= = =68.004 N/m =~ [68.0 N/'m
'

72 (6.143 )%

The stretch of the bungee cord needs to provide a force equal to the weight of the jumper when he is at

the equilibrium point.

mg _ (65.0kg)(9.80 m/s”)
k 68.004 N/m

kAx=mg — Ax= =937m

Thus the unstretched bungee cord must be 25.0 m—9.37 m = .
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24. Consider the first free-body diagram for the block while it is at - _ ., -
equilibrium, so that the net force is zero. Newton’s second law Fix F_B _______ F: A _} _| ) _F_B _____
for vertical forces, with up as positive, gives the following: o X
D F,=Fy+Fg-mg=0 — Fy+Fg=mg
Now consider the second free-body diagram, in which the 1 mg —
block is displaced a distance x from the equilibrium point. mg

Each upward force will have increased by an amount —kx,
since x < 0. Again write Newton’s second law for vertical forces.

D F,=Fpy =F'y+Fg—mg=Fy —kx+Fy —kx—mg = =2kx + (F + Fg —mg) = —2kx

This is the general form of a restoring force that produces SHM, with an effective spring constant of
2k. Thus the frequency of vibration is as follows:

f :L keffective —

2r m E

1 |2k

25. (a) The object starts at the maximum displacement in the positive direction so will be represented by
a cosine function. The mass, period, and amplitude are given.

A=0.16 m; 0= _1396radis — | =(0.16 m) cos (141)|

T 045s

. e . . . 1 _
(b)  The time to reach the equilibrium is one-quarter of a period, so 4(0.45s) = .

(¢) The maximum speed is given by Eq. 11-7a.
Upax = 27 fA = @A = (13.96 rad/s)(0.16 m) =

(d) The maximum acceleration is found from Eq. 11-10.

e = %A = 0”4 =(13.96 rad/s)*(0.16 m) =

The maximum acceleration occurs at the endpoints of the motion and is first attained at the

elease point].

26. Each object will pass through the origin at the times when the argument of its sine function is a
multiple of 7.

3
4

5
4

A: 40ty =npal >ty =gnamng =123, SOtA—ZIZ',éﬂ Smrinininlnin, ..

npmtong =1,2,3, .50ty =17, 27,757, 37,28, L w8 7,37,

B: 30tB =ngmw 4 tB = 3 373 3

Thus we see the first three times are |7zs, 2rs, and 3ﬂs| or |3.1 s, 6.3s,and 9.4s|.

27. The period of a pendulum is given by 7 =2x,/¢/g. The length is assumed to be the same for the
pendulum both on Mars and on Earth.

T=2rm\llg — Ttars = 2ﬂ\/€/gMarS = \/ EEarth
Tartn 2”\/“ &Earth 8EMars

,g f
TMars = TEarth Farth =(1.855) -
8Mars

-
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28. The period of a pendulum is given by 7 =27./¢/g. Solve for the length using a period of 2.0 seconds.

72 2.0s 980m/s
T=2rfllg — 62475 ( )( ) =[0.99 m]

29. (a) The period is given by T =50s/28 cycles = .

(b) The frequency is given by f =28 cycles/50 s =|0.56 Hz|.

30. The period of a pendulum is given by Eq. 11-11a, T =27./{/g.
(@) T=2nllg=271 |—1T 047m =[1.45]

(b) Ifthe pendulum is in free fall, there is no tension in the string supporting the pendulum bob and
no restoring force to cause oscillations. Thus there will be no period—the pendulum will not
oscillate, so no period can be defined.

31. There are (24 h)(60 min/h)(60 s/min) = 86,400 s in a day. The clock should make one cycle in exactly

two seconds (a “tick” and a “tock™), so the clock should make 43,200 cycles per day. After one day,
the clock in question is 21 seconds slow, which means that it has made 10.5 fewer cycles than are
required for precise timekeeping. Thus the clock is only making 43,189.5 cycles in a day. Accordingly,
43,189.5

the period of the clock must be decreased by a factor of .
43,200

43,189.5 43,189.5
T =———T oy — 270 onlg =| ——— 27l q/e —
new 43’200 old new’8 [ 43’200 j old’8

2 2
43,189.5 43,189.5
Coow =| —22 | 0 =1 222222 | (0.9930 m) = 0.9925 m
new ( 43,200 j old ( 43,200 J ( )

Thus the pendulum should be |sh0rtened by 0.5 mm|.

32. Use energy conservation to relate the potential energy at the H
. ) L 1 B
maximum height of the pendulum to the kinetic energy at the lowest | cosd
point of the swing. Take the lowest point to be the zero location for )
gravitational potential energy. See the diagram. v
T S T SEEEE
Etop = Ebottom - I(Etop + PEtop = KEbottom + PEbottom - !
) h=1-1cos@
0+ mgh = %mvmax = Umax = Y, 2 = 2g£(1 Ccos max) _i _____________ e, O

33. If we consider the pendulum as starting from its maximum displacement, then the equation of motion
. 27t . iy
can be written as =6, cosw t =6, cosT. Solve for the time for the position to decrease to half of

the amplitude.

27t 27t -
91/2 = %90 = 90 COS /2 4 1/2 = COS 1
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It takes %T for the position to change from +10° to +5°. It takes %T for the position to change from
+10° to 0°. Thus it takes %T —%T = %T for the position to change from +5°to 0°. Due to the
symmetric nature of the cosine function, it will also take %T for the position to change from 0° to
—5°, so going from +5° to —5° takes %T . The second half of the cycle will be identical to the first,

so the total time spent between +5° and —5°is %T . So the pendulum spends of its time
between +5° and —5°.

34. The equation of motion for an object in SHM that has the maximum displacement at # =0 is given by
x = Acos(2x ft). We let x be the position of the pendulum bob in terms of arc length measured relative
to the lowest point of the pendulum. For a pendulum of length 7, the arc length is given by x = (8, so

max - A gem
displacement is then found from the equation for the arc length.
L0 =10,, cos2rfi) — 0= cos(27x ft)
If both sides of the equation are multiplied by 180°/7 rad, then the angles can be measured in degrees.

Thus the angular displacement of the pendulum can be written as below. Note that the argument of the
cosine function is still in radians.

0 = 0,,, cos(2r ft) =12°cos(5.07rt) = (7£/15) cos(5.07t)

(@) 6(t=0.25s)=(x/15)cos(5.07(0.25)) =
(b)  6(t=1.60s)=(r/15)cos(5.07(1.60)) = (The time is exactly 4 periods.)

ax» Where € must be measured in radians. The equation for the pendulum’s angular

max

(c) 6(t=500s)=(7m/15)cos(5.07(500)) =|7/15 rad| (The time is exactly 1250 periods.)

35. The wave speed is given by v =Af. The period is 3.0 seconds, and the wavelength is 8.0 m.
V=Af=AT=(70m)/(3.0s)=

36. The distance between wave crests is the wavelength of the wave.

A=lf = (343 m/s)/282 Hz =

37. The elastic and bulk moduli are taken from Table 9-1 in Chapter 9. The densities are taken from
Table 10-1 in Chapter 10.

9 2
(a) Forwater: v=4B/p= M: 400 m/s

1.00x10* kg/m>

(b) For granite: v=+E/p = 45X103 N/m’ - 100
2.7x10 kg/m

() Forsteel: v=4E/p= 200x10° Nim” _m

78x10° kg/m®

© Copyright 2014 Pearson Education, Inc. All rights reserved. This material is protected under all copyright laws as they currently exist.
No portion of this material may be reproduced, in any form or by any means, without permission in writing from the publisher.



11-14

Chapter 11

38.

39.

40.

41.

i
[t

43.

To find the wavelength, use 4 =v/f.

AM:
8 8
/11:3:—3.00x103nvs=545m @=1=—3‘00X103m/s=188m [AM: 190 m to 550 m|
£ 550x10° Hz > 1600x10° Hz
8 8
PM: gy = L 200 gy g, o 0 3000 O s ge [FM 28 mio 34 m]
£ 88x10° Hz ' 108x10° Hz

(@) Both waves travel the same distance, so Ax = vj#; = v,t,. We let the smaller speed be v, and the
larger speed be v,. The slower wave will take longer to arrive, so # is greater than #,.
) 5.5 km/s

t, = 90s) = . 90s)=165s
2 1)2—1)1( )= S ks =55 ks Y

Ax = 0yt = (8.5 km/s)(165 s) = [1400 km

(b) This is not enough information to determine the epicenter. All that is known is the distance of the
epicenter from the seismic station. The direction is not known, so the epicenter lies on a circle of
radius 1400km from the seismic station. Readings from at least two other seismic stations are

needed to determine the epicenter’s position.

To find the time for a pulse to travel from one end of the cord to the other, the velocity of the pulse on
the cord must be known. For a cord under tension, Eq. 11-13 gives v = \/Fp/u.

MR [R A 80m —[021s
A N NmiL \/FT 120N
m/L (0.65 kg)/(8.0 m)

For a cord under tension, we have from Eq. 11-13 that v =/F7/u. The speed is also the distance

traveled by the wave divided by the elapsed time, v = % The distance traveled is the length of the cord.

2 2
pe [ oy ! __m ¢ __ m€22(0.40kg)(8.27m):
R, (A LA (A (085s)

The speed of the water wave is given by Eq. 11-14b, v =/B/p, where B is the bulk modulus of
water, from Table 9-1, and p is the density of seawater, from Table 10—1. The wave travels twice the
depth of the ocean during the elapsed time.

20 vt t [B 24s | 20x10° N/m?
V="-r- 5 (=—=— [—= ={1700 m

t P 1.025x10° kg/m’

The speed of the waves on the cord can be found from Eq. 11-13, v =./F;/u. The distance between

the children is the wave speed times the elapsed time.

Fr , F, 35N
Ax = VAt = At =At — Ax=(At T_oss 2 Im
=t (e = 0559 o o =21 m|
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44,

45.

46.

47,

48.

(a) Assume that the earthquake waves spread out spherically from the source. Under those
conditions, Eq. 11-16b applies, which states that intensity is inversely proportional to the square
of the distance from the source of the wave.

Liskn /D15 km = (15 km)? /(45 km)? =

(b) The intensity is proportional to the square of the amplitude, so the amplitude is inversely
proportional to the distance from the source of the wave.

Ags km 45y = 15 km/45 km =m

(a) Assuming spherically symmetric waves, the intensity will be inversely proportional to the square

of the distance from the source, as given by Eq. 11-16b. Thus Ir? will be constant.

2 _ 2
I near’near = I farlfar

2 2
I =1, 28— (30%109 W/mz)w= 8.748x10° W/m? =~[8.7x10° W/m?>
near far 5 (1.0 km)2

rnear

(b) The power passing through an area is the intensity times the area.

P=14=(8.748x10° W/m?)(2.0 m?) =|1.7x10'" W

The bug moves in SHM as the wave passes. The maximum KE of a particle in SHM is the total energy,

which is given by E\,; = %kA2. Compare the two KE maxima.

2 2
KE, _3k4 (4 _(225em) _ o
KE, %kAlz 4 35cm

From Eq. 11-18, if the speed, medium density, and frequency of the two waves are the same, then the
intensity is proportional to the square of the amplitude.

LI =EyJE = 4214} =50 — A,/4 =-/50=[22]

The more energetic wave has the larger amplitude.

(a)

(b)

(¢) The energy is [all kinetic energy| at the moment when the string has no displacement. There is no

elastic potential energy at that moment. Each piece of the string has speed but no displacement.
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49.

50.

51.

52.

53.

54.

O
bt

The frequencies of the harmonics of a string that is fixed at both ends are given by f, = nf], so the

first four harmonics are | f; = 440 Hz, f, =880 Hz, f; =1320 Hz, and f, =1760 Hz|

The fundamental frequency of the full string is given by Eq. 11-19b, f|nfingered = 2—1; =294 Hz. Ifthe

length is reduced to two-thirds of its current value, and the velocity of waves on the string is not
changed, then the new frequency will be

v 3 v 3 3
SFingered =—o—% ( j Fanfingered =(—J 294 Hz = [441 Hz
5 gere
2 (§ g) 220 (2 2

Four loops is the standing wave pattern for the fourth harmonic, with a frequency given by
f4 =4/ =240 Hz. Thus, |f1 =60 Hz, f, =120 Hz, f; =180 Hz, and f5 =300 Hz| are all other

resonant frequencies, where f; is the fundamental or first harmonic, f, is the first overtone or second
harmonic, f; is the second overtone or third harmonic, and f5 is the fourth overtone or fifth

harmonic.

Adjacent nodes are separated by a half-wavelength, as examination of Fig. 11-41b will show.

v v 97 m/s
A=— > Avg=ii=—0=—""T" _010211m=[010m
f node T2 T £ 2(475 Ha)

Since f, = nf;, two successive overtones differ by the fundamental frequency, as shown below.

Af = fowi = Sy = (1+1) fi —nfi = f; =350 Hz—280 Hz =[70 Hz]

The speed of waves on the string is given by Eq. 11-13, v = /F;/u. The resonant frequencies of a

string with both ends fixed are given by Eq. 11-19b, f, = zn_v’ where £ is the length of the
vib

portion that is actually vibrating. Combining these relationships allows the frequencies to be

calculated.

F,
I ,/ ,/ " 20N =302.51 Hz
21 vib Y vib 2(0 62m)\ (3.4x10™ kg)/(0.92 m)

fo=2f,=60501Hz f, =3f1 =907.52 Hz

So the three frequencies are |3OO Hz, 610 Hz, and 910 Hz|, to 2 significant figures.

The string must oscillate in a standing wave pattern to have a certain number of loops. The frequencies
of the standing waves will all be 60.0 Hz, the same as the oscillator. That frequency is also expressed

by Eq. 11-19b, f, = % The speed of waves on the string is given by Eq. 11-13, v =/F7/u. The

tension in the string will be the same as the weight of the masses hung from the end of the string,
Fr =mg. Combining these relationships gives an expression for the masses hung from the end of the

string.
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F m 40% 2
(@ f,= oonme =30t
20 Y n’g

2 2 —4
m _ 4050 m) (600 H2)? 35107 k) _y (oo 1

12(9.80 m/s?)
by my= 22 1 ——==[029kg
m; 1157 kg )
¢ =22 2o _l46x107% k
© m=mlT

56. The tension in the string is the weight of the hanging mass, F; =mg. The speed of waves on the string

F
can be found by v = /—T = /E, and the frequency is given as f =60 Hz. The wavelength of
u H

waves created on the string will thus be given by

2
v 1 [mg_ 1 \/(0.080 kQOB0mMs®) _ ooq

N T 60.0Hz\ (35x107* kg/m)

The length of the string must be an integer multiple of half of the wavelength for there to be nodes at
both ends and thus form a standing wave. Thus, ¢ = A4/2, 4, 34/2, ---. This gives

£=0.39m,0.79m, 1.18 m, 1.58 m, --- as the possible lengths, so there are standing wave
patterns that may be achieved.

57. From the description of the water’s behavior, there is an antinode at each end of the tub and a node in
the middle. Thus, one wavelength is twice the tub length.

V=Af =2l y) f =2(0.75 m)(085 Hz) =1.275 m/s =[13 m/s|

58. The speed in the second medium can be found from the law of refraction, Eq. 11-20.

sind, v, sin &, (sm33 j
22 5 p, = = (8.0 km/s —-6.3km/s
sing,  y 2 =4 sin 6, =( 9 sin 44°

59. The angle of refraction can be found from the law of refraction, Eq. 11-20. The relative velocities can
be found from the relationship given in the problem.

51.n92 _U _331+0607, Sin 6, =sin 25° 331+0.60C15) | _ . oo (322) 0.4002
sin, vy 331+0.60T; 331+0.60(15) 340

6, =sin"' 0.4002 = 23.59° =

60. The angle of refraction can be found from the law of refraction, Eq. 11-20. The relative velocities can
be found from Eq. 11-14a.

sin 92 \/E/pz 1 \/SGlpwater :\/SGI
sin 91 'Ul E/pl P2 SG2pwater SGZ

sin @, =sin 6, / n 38° / =0.7388 — 6, =sin"' 0.7388 =
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61. The wavelength is to be 1.0 m. Use Eq. 11-12.
v 344 m/s
v=fA o> f=—= =458.7 Hz = |460 Hz
f f A 0.75m

There will be significant diffraction only for wavelengths larger than the width of the window, so
waves with frequencies lower than 460 HZ would diffract when passing through this window.

62. Consider the conservation of energy for the person. Call the unstretched position of the fire net the
zero location for both elastic potential energy and gravitational potential energy. We can measure both
the amount of stretch of the fire net and the vertical displacement for gravitational potential energy by
the variable y, measured positively for the upward direction. Calculate the spring constant by
conserving energy between the window height (yy,, = 20.0 m)and the lowest location of the person

(Vpottom = —1.4 m). The person has no kinetic energy at either location.

— _ 17,2
Etop - Ebottom — mgy top — M&Vbottom + Eky bottom

Btop ;ybottom) 262 kg)(980 m/s?) [20.0 m— (1.4 m)]

. =13268x10* N/m
Ybottom (_1 4 m)

k =2mg

(a) If'the person were to lie on the fire net, the person would stretch the net an amount such that the
upward force of the net would be equal to their weight.

o _mg _ (62kg)(980 m/s?) ;
Foq =k|y|=mg — |y|—7— caaloT N T 46x107 m

(b) To find the amount of stretch given a starting height of 38 m, again use conservation of energy.
Note that there is no kinetic energy at the top or bottom positions.

2 2 2mg 2mg
Etop = Epottom ™ MY top = "M&Vbottom %ky bottom > Vbottom +Ty bottom _Ty top — 0
) (62 kg)(9.80 m/s?) (62 kg)(9.80 m/s?)
Ybottom T 2 bottom — 2 (38m)=0 —

1.3268x10* N/m 1.3268x10* N/m
Vesiom +0.091589 p . —34804=0 — yyouom =—1.9119 m, 1.8204 m

This is a quadratic equation. The solution is the negative root, since the net must be below the
unstretched position. The result is that it stretches down if the person jumps from 38 m.

63. Apply conservation of mechanical energy to the car, calling condition 1 to be before the collision and
condition 2 to be after the collision. Assume that all of the kinetic energy of the car is converted to
potential energy stored in the bumper. We know that x; =0 and v, =0.

1 2 0172 _1 2 17,2 1 2 _ 17,2
—> Eml)l +E]OC1 —7}7[1}2 +E]OC2 — Emvl —5]062 —>

E=E,
X, =\/%u1 = 139K (50 mis)=01126m =[011m

410x10° N/m

64. (a) The frequency can be found from the length of the pendulum and the acceleration due to gravity.

1 [g 1 [980m/s?
- g /— =0.5872 Hz ~[0.59 Hz]
! 2z N0 2x\ 0.72m “ z
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(b) To find the speed at the lowest point, use the conservation *
of energy relating the lowest point to the release point of ) 0 f
the pendulum. Take the lowest point to be the zero level l cos 0
of gravitational potential energy. .
- S R Yo
Etop = Ebottom - I<Et0p + PEtop = KEbottom + PEbottom 1
0+mg(f— £ cos 6) =L miyom +0 h=£-tcosf
I & ------

Upottom = 2gl(l—cos8)

= /2(9.80 m/s2)(0.72 m)(1 - cos 12°) = 0.5553 m/s =[0.56 m/s

(¢) The total energy can be found from the kinetic energy at the bottom of the motion.
Egtal = 3 mVptiom =3(0.295 kg)(0.5553 m/s)* =|4.5x107

65. For the penny to stay on the block at all times means that there will be a normal force on the penny
from the block, exerted upward. If down is taken to be the positive direction, then the net force on the
penny is F,. =mg—Fy =ma. Solving for the magnitude of the normal force gives Fy = mg —ma.

This expression is always positive if the acceleration is upward (a < 0), so there is no possibility of the

penny losing contact while accelerating upward. But if a downward acceleration were to be larger than
g, then the normal force would go to zero, since the normal force cannot switch directions (Fy > 0).

Thus the limiting condition is a4, = g. This is the maximum value for the acceleration. For SHM,

we also know that a,,, = &’ 4= k = iA. Equate these two values for the acceleration.
M+m M
k Mg
amaxzﬁAzg - A=7

66. Block m stays on top of block M (executing SHM relative to the ground) without slipping due to static

friction. The maximum static frictional force on m is Fy, = g mg. This frictional force causes block
max

m to accelerate, SO may,, = Umg — dan. = Mg Thus, for the blocks to stay in contact without
slipping, the maximum acceleration of block M is also a,,,, = t,g. But an object in SHM has a

k .
max = W A=——A4. Equate these two expressions for the
total

maximum acceleration given by a

maximum acceleration.

k Ug (0.30)(9.80 m/s?)
Aoy =——— A= - A===2M+m)=—T————2(725k 16m
m =, A=A 2 (M m) =2 (725 ke) = (016 m]
. . 1 / .
67. The frequency of a simple pendulum is given by Eq. 11-11b, f = Py % The pendulum is
V4

accelerating vertically which is equivalent to increasing (or decreasing) the acceleration due to gravity
by the acceleration of the pendulum.

1 Jg+a 1 g+035g /135g 135 135
(a) fnew_ 71'\/ f _2”\/ 13 \/7 13 f—m
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1 [g+a _ 1 [g-035g 1 [065¢ 1\/§
b =— === 22 - 1720 e — 0.65—, = =065 £ =[081
) new 27\ v 2 1 27\ 0 272\ ¢ !

68. The equation of motion is x =0.25sin (4.70 ¢) = Asin wr.

(a) The amplitude is 4 = x,, =[0.25m|

470!
b) The frequency is found by w=27xf =4.70rad/s — = =10.748 Hz|.
() quency y o=2rf f==

2r
47057

(¢) The period is the reciprocal of the frequency. 7' =1/f = 1.345s|.

(d) The total energy is given by the following:
Eopar = Smvp =Sm(w4)” =1(0.650 kg)[(4.70s7)(0.25 m)]* =0.4487 ] ~
(e) The potential energy is given by
PE =1i® =lmw’x® =1(0650 kg)(4.7057")* (015 m)* = 016151 =[0.16J
The kinetic energy is given by
KE = E,i, —PE = 04487 1-0.1615] = 02872 ] =

total

69. The spring constant does not change, but the mass does, so the frequency will change. Use Eq. 11-6b
to relate the spring constant, the mass, and the frequency for oxygen (O) and sulfur (S).
k k

1
fzg . - 4—2=f2m=constant - fémozfs2ms -

T
fs=to /’”—0 = (3.7x10" Hz) /;g—'g =[2.6x10"® Hz
ms B

70.  Assume the block has a cross-sectional area of 4. In the equilibrium position, the net force on the
block is zero, so F,,,, = mg. When the block is pushed into the water (downward) an additional

distance Ax, there is an increase in the buoyancy force (£,,,,) equal to the weight of the additional
water displaced. The weight of the extra water displaced is the density of water times the volume
displaced.

Fxtra = Mextra & = PvaterVextra & = Pwater SAAX = (Dyyarer §A)AX

water water

This is the net force on the displaced block. Note that if the block is pushed down, the additional force
is upward. And if the block were to be displaced upward by a distance Ax, the buoyancy force would

actually be less than the weight of the block by the amount F,

extra >
downward of magnitude F,.,. In both upward and downward displacement, there is a net force of

so there would be a net force

magnitude (0,4 84)Ax but opposite to the direction of displacement. So we can write
Fret = ~(Pyater 84)Ax, indicating that the direction of the force is opposite to the direction of the
displacement. This is the equation of simple harmonic motion, with a “spring constant” of

[k = P

71.  The force of the man’s weight causes the raft to sink, and that causes the water to put a larger upward
force on the raft. This extra buoyant force is a restoring force, because it is in the opposite direction of
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the force put on the raft by the man. This is analogous to pulling down on a mass—spring system that is
in equilibrium by applying an extra force. Then when the man steps off, the restoring force pushes
upward on the raft, and thus the raft-water system acts like a spring, with a spring constant found as

follows:
F 80 my/s®
= Fou _ (68Ke)O 802 MS7) _1.904x10* N/m
X 3510 m

(a) The frequency of vibration is determined by the “spring constant” and the mass of the raft.

1 [k 1 [1904x10* N/m
- /_:_ e =1228Hz =12 Hy
I 22\m 2 320 kg -

(b) As explained in the text, for a vertical spring the gravitational potential energy can be ignored if
the displacement is measured from the oscillator’s equilibrium position. The total energy is thus
all elastic potential energy.

Eqogar = 3k4” =1(1.904x10* N/m)(35x107> m)* =11.66J = [12]

72. The pebble losing contact with the board means that there is no normal force of the board on the
pebble. If there is no normal force on the pebble, then the only force on the pebble is the force of
gravity, and the acceleration of the pebble will be g downward, the acceleration due to gravity. This is
the maximum downward acceleration that the pebble can have. Thus, if the board’s downward
acceleration exceeds g, then the pebble will lose contact. The maximum acceleration and the amplitude

are related by a,,,

2
By =47z'2f2ASg 5 o4< g 9.80 m/s <[32x102 m

ar*f* 4x*(28 Hz)?

M 4 4’ £ A.
m

73. (a) From conservation of energy, the initial kinetic energy of the car will all be changed into elastic
potential energy by compressing the spring.

E=E, — %mvl2 +%kx12 =%mv22 +%kx§ - %mvl2 =%kx§ -
2 2
2
k:m%:(%o kg)%ﬂﬂnxlo“ N/m =(3.7x10* N/m
x5 (4.0 m)

() The car will be in contact with the spring for half a period, as it moves from the equilibrium
location to maximum displacement and back to equilibrium.

11 m 950 kg _

3.711x10* N/m

74. (a) The relationship between the velocity and the position of a SHO is given by Eq. 11-5b. Set that
expression equal to half the maximum speed, and solve for the displacement.

R B e 2 ) B LR 7 RE S

AP =3 o x=+34/2~+08664)|

() Since F =—kx=ma for an object attached to a spring, the acceleration is proportional to the
displacement (although in the opposite direction), as @ = —xk/m. Thus the acceleration will have

half its maximum value where the displacement has half its maximum value, at |+ x, |
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75. The effective spring constant is determined by the frequency of vibration and the mass of the
oscillator. Use Eq. 11-6b.
k

1
=\ =
fZﬂ'm

-27
k=472 f2m = 4% (2.83x10" Hz)(16.00 u)(M] — (8.40x10? N/m
u

76. Consider energy conservation for the mass over the range of motion
from letting go (the highest point) to the lowest point. The mass falls
the same distance that the spring is stretched, and has no KE at either

=0--—--1---y=H
endpoint. Call the lowest point the zero of gravitational potential x=0 y
energy. The variable x represents the amount that the spring is
stretched from the equilibrium position. J—_—I
x=H"""" Tt y=0

— 1 2 17,2 1 2 17.2
Etop - Ebottom - oM vtop +mgy top + Ekxtop =5m Vpottom T MV pottom T 2 kxbottom

0+mgH+0=O+O+%kH2 - —="2=w - =[]

m H
2
77. The maximum velocity is given by Eq. 11-7.
b = 27;A _ 2%(7932 m) :

The maximum acceleration is given right after Eq. 11-10.

kA 5, 4r*A  47°(015m) ) -2
a =—=wA= = =0.1209 m/s z-0.12m/s
m

e 72 (7.05)°
dp 01209 my/s’ >
= =12x1072% =
g 9.80 m/s>

78. The frequency at which the water is being shaken is about 1 Hz. The sloshing coffee is in a standing
wave mode, with antinodes at each edge of the cup. The cup diameter is thus a half-wavelength, or
A =16 cm. The wave speed can be calculated from the frequency and the wavelength.

v=Af=(16 cm)(1 Hz) =16 cm/s = [20 c/s

79. (a) The amplitude is half the peak-to-peak distance, so .

() The maximum kinetic energy of a particle in simple harmonic motion is the total energy, which

is given by Ej i, = %kAz. Compare the two kinetic energy maxima.

17,42 2 2
KE5 max =§kA2 =(ij =[O.I6m] =

KEj max L ka4t A4 0.06 m
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80. We assume that the earthquake wave is moving the ground vertically, since it is a transverse wave. An
object sitting on the ground will then be moving with SHM, due to the two forces on it—the normal force
upward from the ground and the weight downward due to gravity. If the object loses contact with the
ground, then the normal force will be zero, and the only force on the object will be its weight. If the only
force is the weight, then the object will have an acceleration of g downward. Thus, the limiting condition
for beginning to lose contact with the ground is when the maximum acceleration caused by the wave is
greater than g. Any larger downward acceleration, and the ground would “fall” quicker than the object.
The maximum acceleration is related to the amplitude and the frequency as given after Eq. 11-10.

81. ()
(b)
(c)
(d)
82.

2
a =ﬁ=a}2A>g - 4> -_& 980 m/s
m

e o Az fr 47%(0.60 Hz)>

~Em

The overtones are given by f, =nf;,n=234,....

G: f,=2(392Hz)= f3 =3(392 Hz) =1176 Hz = 1180 Hz
B: f, =2(494 Hz)=|988 Hz| f; =3(440 Hz) =1482 Hz =[1480 Hz

If the two strings have the same length, they have the same wavelength. The frequency
difference is then due to a difference in wave speed caused by different masses for the strings.
The mass enters the problem through the mass per unit length.

FT FT
i 2 2
e
Jo _ /A _vs _N#s _Nmgl/l _|my  mg _([fa =[ﬂj _[[59]
fA ‘UA/)b UA FT FT mG mA fG 392
Ha mp/l

If the two strings have the same mass per unit length and the same tension, then the wave speed
on both strings is the same. The frequency difference is then due to a difference in wavelength.
For the fundamental, the wavelength is twice the length of the string.

Jo Vg Ay 205 Lo _Je _494 g
fs Vg Ag 2g lg  fo 392
If the two strings have the same length, they have the same wavelength. They also have the same

mass per unit length. The frequency difference is then due to a difference in wave speed caused
by different tensions for the strings.
Frp 5 5
Jo_w/A_vg N # _ }_FTB o fs =[f_Bj =[%) =[0.630
Sa Vald vy Fra Fra Fra \fa 494
U

O " A
-1

For a resonant condition, the free end of the string will be an antinode, and the fixed end of the string
will be a node. The minimum distance from a node to an antinode is A/4. Other wave patterns that fit
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the boundary conditions of a node at one end and an antinode at the other end include 34/4, 51/4,:--.
See the diagrams. The general relationship is ¢ =(2n—1)A4/4, n=1,2,3,---. Solving for the wavelength
gives the following:

A= 4f ,n=1,2,3--
2n—1

83. Relative to the fixed needle position, the ripples are moving with a linear velocity given by v = wr.

v= (33 1 eV j Imin (27 rad } ) 10 m) = 03560 mis
3min )| 60s 1rev

This speed is the speed of the ripple waves moving past the needle. The frequency of the waves is

f= v _ 03560mis (3 significant figures)

A 155x103 m

84. The wave speed is given by Eq. 11-12, v = A f, while the maximum speed of particles on the cord is
given by Eq. 11-7, v, =27 A4f. We equate the two expressions.

A 100cm
Af =2mAf — A=—= =(1.59 cm
f=2maf 2

27z_ T

85.  From the given data, 4=0.50m and v =2.5m/4.0s=0.625 m/s. We use Eq. 11-17b for the average

power, with the density of seawater from Table 10—1. We estimate the area of the chest as (0.30 m)z.
Answers may vary according to the approximation used for the area of the chest.

P=272pSvf?4* =222 (1025 kg/m>)(0.30 m)? (0.625 m/s)(0.25 Hz)*(0.50 m)?

-5w]

86. The unusual decrease of water corresponds to a trough in Fig. 11-24. The crest or peak of the wave is
then one-half wavelength distant, traveling at 550 km/h.

A 235km ( 60 min
A=vt=11 - ="= ={13 min
2 2v 2(5501th)( lh j

87. (a) Equation 11-20 gives the relationship between the angles and the speed of sound in the two
media. For total internal reflection (for no sound to enter the water), 8, .., =90° or

Sin 6,4 =1. The air is the “incident” media. Thus the incident angle is given by the following:

ater

sin 6, Vi .21 . VUi .1l Uy . _1| v
aiwr_ _ amr ., — — air — amr — 1
=3 ; By =6 =sin {sm O, ater » } — |6y =sin =sin | —

water water vwater 2

sin Hwater

(b) From the angle of incidence, the distance is found. See the diagram.
1 Vair sin~! 343m/s

x—>

[e]

Oy =SInT ———= —=

arM Vyater 1440 m/s

tan G v =% — x=(18m)tan138°=[0.44 m]
S m
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Solutions to Search and Learn Problems

1. For an underdamped oscillation, the period is approximately equal to the period of an undamped
oscillation. The period is related to the mass and spring constant as in Eq. 11-6a. To measure the
period of oscillation, you can push down on the bumpers of the car and time the oscillation period.
Then solving Eq. 11-6a gives the effective spring constant.

m 27 2
T=2x /— - kzm(—)
k T

This spring constant is for the four springs acting together. To determine the spring constant of each
individual spring, you would divide the mass of the car by four.

=27 2—_’"”2
T 7?2

2. The resonant angular frequency of the spring is equal to the angular frequency of the tires when

traveling at 90.0 km/h.
_v_9.0kmh( 1m/s — 3621 rad/s
r %(0.58 m)\ 3.6 km/h

The spring constant can be calculated from this angular frequency and the mass of the tire/wheel
combination.

A= 5 k=otm= (86.21 rad/s)*(17.0 kg) =1.263x10°> N/m
m

Hooke’s law (Eq. 6-8) can then be used to determine the distance the spring is compressed when the
mass is added. We use the absolute value of the force and the distance, so that there is no negative sign
in the equation.

1280 kg)(9.80 m/s>
F=kx — ngz%: 4 (280 ke)( ) o 5432%107 m =|54x10° m

1.263x10° N/m

3.  Forced resonance and underdamping are factors in the pronounced rattle and vibration. Forced
resonance becomes a factor because hitting the bumps in the road is “forcing” action on the car.
Assuming that the bumps are regularly spaced and the car has a constant speed, then that forcing will
have a particular frequency. The forcing becomes “forced resonance” when the frequency of hitting the
road bumps matches a resonant frequency of some part in the car. For example, if the frequency at
which the car hits the bumps in the road is in resonance with the natural frequency of the springs, the
car will have a large amplitude of oscillation and will shake strongly. If those springs are
underdamped, then the oscillation resulting from hitting one bump is still occurring when you hit the
next bump, so the amplitude increases with each bump. A significant oscillation amplitude can be built
up. If the springs were critically damped or overdamped, the oscillation would not build up—it would
dampen before the next bump was encountered.

4.  One wavelength, or one full oscillation, corresponds to 360°—a full cycle of the sinusoidal oscillation
that is creating the wave disturbance. Therefore, a half of a wavelength (4/2) corresponds to a half
oscillation, or 180°.

5. We must make several assumptions. Consider a static displacement of the trampoline, by someone
sitting on the trampoline mat. The upward elastic force of the trampoline must equal the downward
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force of gravity. We estimate that a 75-kg person will depress the trampoline about 25 c¢m at its
midpoint. Hooke’s law (Eq. 6-8) can then be solved for the spring constant.

mg (75 kg)(9.80 m/s?)
k= > k=—°-= =2940 N/m = {3000 N/
mg s m

X

Answers will vary based on the assumptions made.

6. The addition of the support will force the bridge to have an oscillation node at the center of the span.
This makes the new fundamental frequency equal to the first overtone of the original fundamental
frequency. If the wave speed in the bridge material doesn’t change, then the resonant frequency will
double, to . Since earthquakes don’t do significant shaking at that frequency, the modifications

would be effective at keeping the bridge from having large oscillations during an earthquake.
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